£ A 3 A2

Y

-4 2 4 6
l—
L+ I+ =01

@ +6, -3, +5, +8
® -6, +3, +5, +2

® -6, +3, +5, =2

@ +6, +3, -5, +4

@ +6, -3, =5, —2




olJ

KA

® x3,y3

@ 3x,x%
® 7,7a

@ —a,-b

@ 2x,-5x



AN &2 Rz 19

oF of
o, 1T




ol LFH[FAZE Ao A A FRAL Sl A FFA L G2
91 kg AU TE Aok Dol A A A0 ¥]7E 6 : 19 o, o] ¢-F=H]
FAZE AT A FFAE R kg WA FOHA L.

e ke



12 r&Ueh)

7t

cm



o] 420 & o, o] F £ ¥

@ 60 ® 63






8. WAl FolA Hol 1 Bk A2 A2 ol AAY7
@ 5.202 +2.89 @ 22555+17.35 3 32.336+8.6

@ 9.504 +4.8 3 3.294+3.66



9. Ha2 7Y AMEdUT. €] 9 Aol H em 1A

TIHA L.




o]

1

Hﬂ,axfiﬂ%k—fi—?

1
b

® 8

@ 11

® 12



